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SUMMATIVE ASSESSMENT – II, 2012 

 II, 2012 

SCIENCE /   

Class – X / X 

 

Time allowed : 3 hours          Maximum Marks : 80 

 3          80 

 

General Instructions : 

(i) The question paper comprises of two Sections, A and B. You are to attempt both the 

sections. 

(ii) All questions are compulsory. 

(iii) There is no overall choice. However, internal choice has been provided in all the five 

questions of five marks category. Only one option in such questions is to be attempted. 

(iv) All questions of Section-A and all questions of Section-B are to be attempted separately. 

(v) Question numbers 1 to 4 in Section-A are one mark questions.  These are to be answered in 

one word or in one sentence. 

(vi) Question numbers 5 to 13 in Section-A are two marks questions.  These are to be answered 

in about 30 words each. 

(vii) Question numbers 14 to 22 in Section-A are three marks questions.  These are to be 

answered in about 50 words each. 

(viii) Question numbers 23 to 25 in Section-A are five marks questions.  These are to be answered 

in about 70 words each. 

(ix) Question numbers 26 to 41 in Section-B are multiple choice questions based on practical 

skills.  Each question is a one mark question.  You are to select one most appropriate 

response out of the four provided to you. 
 

 

(i) 

 

(ii)  

(iii) 

 

(iv)  

(v) 1 4  

(vi) 5 13 30  

(vii) 14  22 50   

(viii) 23 25 70 

(ix) 26 41 

SC 2020 
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 SECTION-A /  

1. Name the functional group present in CH3COCH3 and state the name of this compound. 

CH3COCH3  

  
2. Name the part responsible for the power of accommodation of the human eye. 

 

  
3. Choose one consumer each that belongs to the second and third trophic levels from the organisms 

given below. 
Eagle, frog, tiger , rabbit, fox 

 

  
4. Pesticides added to a field is seen in increased amounts in the crop and in the birds that feed on 

them. What is this phenomenon called ? 

 

  
5. State the modern periodic law. How many groups and periods  are there in the modern periodic 

table ? 

 

  
6. Out of the two elements X and Y which has bigger atomic radius ? Give reason to justify your 

answer. 
(i) X has atomic number 18 and atomic mass 40  
(ii) Y has atomic number 20 and atomic mass 40  

 X  Y  

(i) X  18 40   

(ii) Y  20 40  

  
7. Mention the functions of (a) placenta (b) fallopian tube in the human female reproductive system. 

(a) (b)  

  
8. List any two contraceptive methods practiced only by women. Mention how these methods work. 

 
  

9. What is meant by radius of curvature of a spherical mirror? How is it related to the focal length of 
the mirror ?  

 
  

10. What is meant by least distance of distinct vision ? How does this vary between the very young 
and old people ? 

 

  
11. Explain why the colour of the clear sky is blue. 
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12. List two disadvantages of building large dams over rivers. 

 

  
13. Name two fossil fuels. List one product each formed when these are burnt in  

(a)sufficient oxygen    and  (b)insufficient oxygen. 

(a)

(b)  

  
14. An organic compound  A of molecular formula C2H4 on reduction gives another compound B of 

molecular formula C2H6. B on reaction with Chlorine in the presence of sunlight gives C of 
molecular formula C2H5Cl.  
(a) Name the compounds A, B and C 
(b) Write chemical equation for the conversion of A to B and name the type of reaction. 

 A  C2H4  B 

 C2H6  B C 

 C2H5Cl   

(a)  A, B C  

(b)  A  B 

 

  
15. Given below is a part of the periodic table. 

Li Be  B C N O F 

Na Mg  AI Si P S Cl 

 As we move horizontally from left to right :- 
(a) what happens to the atomic size? Justify your answer. 
(b)  what happens to the metallic character of the elements ?

 

Li Be  B C N O F 

Na Mg  AI Si P S Cl 

 

(a)  

(b)   

  
16. List three advantages of growing plants by vegetative propagation. 

 

  
17. Trace the F1 generation formed by crossing two plants with separate traits for shape and seed 

colour- round green (RRyy) and wrinkled yellow(rrYY). Mention the characteristic exhibited by it . 

(RRyy) (rrYY)  F1 

 

  
18. How is the sex of a new born determined genetically in humans? 

 
  

19. (a) Name two factors that could lead to the rise of new species. 
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(b) Why are the wings of birds and bats considered analogous organs? 

(a)  

(b)  

  
20. An image 2/3rd  the size the object is formed by a convex lens at a distance of 12cm from it. Find 

the focal length of the lens. 

 12cm 2/3 

 

  
21. Draw ray diagram and describe the nature of the image formed by a concave mirror when the 

object kept__________ 
(a) between pole and focus of the mirror  
(b) Between infinity and centre of curvature of the mirror 

 

(a)  

(b)  

  
22. State the cause of dispersion, when white light enters a glass prism. Explain with a diagram. 

 

  
23. (a) Draw the structures for the following compounds. 

 (i) 2- Bromopentane   (ii) 2 – methylpropane 
 (iii) Butanal   (iv) 1 – Hexyne  
(b) Draw the electron dot structure for ethanoic acid. 
(c) Draw and explain the structure of the micelle. Which end of the micelle dissolves in  

dirt ? 

(a)  

 (i) 2-    (ii) 2–  

 (iii)    (iv) 1–   

(b)  

(c) 

 
 OR/  

 Write the name for the following compounds: 
(i)  CH3CH  CH2CH3  (ii) CH3CH=CHCH2CH3 
                             
  CH3

(iii) CH3CCH2CH3   (iv) CH3CH2CHCH3

                                            
      Cl


(b) (i) Take about 3mL of Ethanol in a test tube and warm it gently in a water bath. 
 (ii) Add a 5% solution of alkaline potassium permanganate drop by drop to the  
  solution. 
 (iii) What happens to the colour of KMnO4 added initially and then in excess? Give  

  reason. Name the product of this reaction. 
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(c) What is scum ? 

 

(i) CH3CH  CH2CH3  (ii) CH3CH=CHCH2CH3 
                           
 CH3

(iii) CH3CCH2CH3   (iv) CH3CH2CHCH3

                                            
      Cl


(b) (i)  3mL  

 (ii)  5%  

 (iii)  KMnO4 

 

(c)  

  
24. (a) Draw the longitudinal section of a flower and label the following parts. 

(i) stigma   (ii) style  (iii) anther  (iv) ovary 
(b) Why are papaya flowers called unisexual ? 
(c) After fertilization in a flower, mention the structures that develop into the embryo and 
 seed. 

(a)  

 (i)   (ii)    (iii)  (iv)  

(b)  

(c)  

 OR/  

 (a) In the male reproductive system, where is the organ that produces male germ cells 
 situated ? Why? 
(b) Mention the role of prostate gland and seminal vesicles in the human male reproductive 
 system. 
(c) How are the male and female germ cells produced in the human body different from 
 each other ? 

(a)  

(b)  

(c)  

  
25. (a) Define power of a lens. 

(b) An object is kept at a distance of 18cm, 20cm, 22cm, and 30cm, from a lens of power +5D. 

 (i) In which case or cases would you get a magnified image? 

 (ii) Which of the magnified image can be got on a screen? 

(c) List two widely used applications of a convex lens. 

(a)  

(b)  +5D 18cm 20cm, 22cm,  30cm  

 (i) / /  

 (ii)  

(c)  
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 OR/  

 (a) A very thin narrow beam of white light is made incident on three glass objects shown 
 below. Comment on the nature of behaviour of the emergent beam in all the 3 cases. 

  
(b) There is a similarity between two of the emergent beams. Identify the two. 
(c) When light enters from air to glass the angles of incidence and refraction in air and glass 
 are 45and 30 respectively. Find the refractive index of glass. 

 (Given that sin 45 =
1

2
; sin 30=1/2) 

(a) 

 

  
(b)  

(c)  45  30

sin 45 =
1

2  
;  sin 30=½) 

  

 SECTION - B /  

26. The freshly prepared aqueous solution of ferrous sulphate appear  
(a) dark green    (b) pale green 
(c) light blue    (d) dark blue 

  

(a)     (b)  

(c)     (d)  

  
27. A student dropped Zinc granules in a test tube containing FeSO4 solution. The observations made 

by him after some time would be 
(i) No change has taken place  (ii) Zn metal turns black 
(iii) The solution has turned turbid (iv) The solution has turned colourless 
(a) i and ii  (b) i and iii  (c) i and iv  (d) ii and iv 

 

(i) (ii)  

(iii) (iv)  
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(a) i ii   (b) i  iii   (c) i  iv   (d) ii  iv 

  
28. A student kept a bottle of acetic acid along with bottle containing Al2(SO4)3 solution. Which of the 

following substances can he use to identify the bottle containing acetic acid ? 

(a) NaOH  (b) Na2CO3 (c) H2O  (d) HCl 

 Al2(SO4)3 

 

(a) NaOH  (b) Na2CO3 (c) H2O  (d) HCl 

  
29. Which of the following test tube represents the complete reaction of Na2CO3 with Acetic acid ? 

 
(a) I  (b) II  (c) III  (d) IV 

 Na2CO3  

 
 

(a) I  (b) II  (c) III  (d) IV 

  
30. The correct experimental set up for the reaction of Na2CO3 with CH3COOH is  

 
Na2CO3 CH3COOH  
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31. A student is to find the focal length of (i) a concave mirror (ii) convex lens by focussing the image 

of a distant object on a screen.  He will observe that the screen is on the same side as that of the 

object in. 

(a) both cases    

(b) case (i) but not in case (ii) 

(c) case (ii) but not in case (i)  

(d) neither case (ii) nor in case (i) 

(i)  (ii) 

 

(a) 

(b) (i)  (ii)  

(c)  (ii)  (i) 

(d) (ii) (i)  

  
32. In an experiment to determine the focal length of a convex lens a student obtained a sharp inverted 

image of a distant tree on the screen behind the lens. He then removed the screen and looked 

through the lens in the direction of the tree. He will see. 

(a) A blurred image on the wall 

(b) An erect image of the tree on the lens. 

(c) No image as there is no screen 

(d) An inverted image of the tree at the focus of the lens. 

 

(a)  

(b)  

(c)  

(d)  

  
33. Four students set up an apparatus consisting of a screen, concave mirror mounted on a stand and 

meter scale to carry out measurements of focal length of a concave mirror as shown in figures. A,B, 

C, and D given below. Best result will be obtained by student. 
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(a) A  (b) B  (c) C  (d) D 

 

 A, B, C D 

 

 
(a) A  (b) B  (c) C  (d) D 

  
34. Four students traced the path of a ray of light passing through a glass slab. The correct trace is that 

of student. 

 
(a) I  (b) II  (c) III  (d) IV 
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(a) I  (b) II  (c) III  (d) IV 

  
35. On the basis of experiments performed by students with rectangular glass slabs the correct 

interpretation about the incident ray, refracted ray and the emergent ray would be- 

(a)  i  >  e 

(b)  e <  r 
(c) emergent ray is parallel to the refracted ray  
(d) incident ray and emergent ray are parallel to each other 

 

(a)  i  >  e 

(b)  e <  r 

(c)   

(d)  

  
36. While observing a student will find that the shape of amoeba is  

(a) round   (b) oval   (c) irregular  (d) rod like 

  

(a)   (b)   (c)   (d)  

  
37. In which of the following is binary fission observed ? 

 
 (a) A  (b) B  (c) C  (d) D 

 

 
 (a) A  (b) B  (c) C  (d) D 
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38. The following are the sketches made by some students. 

 

 

 

The sketch not illustrative of budding in yeast is : 

(a) A  (b) B  (c) C  (d) D 

 

 
 

(a) A  (b) B  (c) C  (d) D 
  

39. In budding  
(a) cell divides transversely  
(b) cell divides longitudinally 
(c) nucleus divides followed by the development of protuberance 
(d) a small protuberance develops followed by nuclear division. 

 

(a)   

(b)  

(c)  

(d)  
  

40. Extra water on the surface of soaked raisins is wiped off gently before final weighing using. 
(a) filter paper (b) dry cotton wool   (c) dry cotton cloth (d) hot air blower 

 

(a)  (b) (c)   (d)  
  

41. While determining the percentage of water absorbed by raisins a student recorded the following 
observations. 
(a) Mass of water taken in the beaker = 50g 
(b) Mass of dry raisins           = 6.0g 
(c) Mass of wet raisins         7.5g 
(d) Mass of water left in the beaker    42g 
On the basis of above observations the percentage of water absorbed by raisins is  

(a)   100
7.5g - 6.0g

6.0g
    (b) 

7.5g - 6.0g 

7.5g
100 
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(c) 
50g - 42g

42g
100  (d) 

50g - 42g 

50g
100 

 

(a)   = 50g 

(b)   = 6.0g 

(c)   7.5g 

(d)   42g 

  

(a)   100
7.5g - 6.0g

6.0g
   (b) 

7.5g - 6.0g 

7.5g
100 

(c) 
50g - 42g

42g
100 (d) 

50g - 42g 

50g
100 

  

 
 




